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0 [NOP]
FIRST INPUT FIRST OUTPUT
INPUT1 OUTPUT_11
<Local:1:l.Data.0> <Local:2:0.Data.0>
1 ] E
SECOND INPUT SECOND OUTPUT
INPUT2 OUTPUT_12
<Local:1:l.Data.1> <Local:2:0.Data.1>
2 ] E
THIRD INPUT THIRD OUTPUT
INPUT3 OUTPUT_13
<Local:1:l.Data.2> <Local:2:0.Data.2>
3 - —
FOURTH INPUT FOURTH OUTPUT
INPUT4 OUTPUT_14
<Local:1:l.Data.3> <Local:2:0.Data.3>
4 - —
FIFTH INPUT SIXTH INPUT FIFTH OUTPUT
INPUT5 INPUT6 OUTPUT_15
<Local:1:I.Data.4> <Local:1:l.Data.5> <Local:2:0.Data.4>
5 H F —
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10

11

12

13

SEVENTH INPUT

SIXTH OUTPUT

INPUT7 OUTPUT _16
<Local:1:l.Data.6> <Local:2:0.Data.5>
i E
EIGHTH INPUT
INPUT8
<Local:1:l.Data.7>
I C
1 C
NINETH INPUT
INPUT9
<Local:1:l.Data.8>
T/T
3/ E
TENTH INPUT
INPUT10
<Local:1:l.Data.9>
T/T
3/ E
LATCH INPUT LATCHED BIT
M[701] M[702]
1 L
1 C
LATCHED BIT UNLACHED BIT
M[702] M[703]
5/ U
TIMER ON TIMER ON
T901.DN RTO
= /B Retentive Timer On —CEND——
Timer T901
Preset 999900 (DN )—
Accum 0
TIMER ON TIMER ON
T901.DN T901
1 F RES )——
TIMER OFF TIMER OFF
T902.DN TOF
= / E Timer Off Delay —CEND)——
Timer T902
Preset 888800 H(DN)—
Accum 0
TIMER OFF TIMER OFF
T902.DN T902
i F RES )——
COUNT UP COUNT UP
C903.DN CTU
= /B Count Up —(CUD>—
Counter C903
Preset 5555 (DN )—
Accum 0
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COUNT UP COUNT UP
C903.DN C903
14 5 F RES —
COUNT DOWN COUNT DOWN
C904.DN CTD
15 = / Count Down —(CD >——
Counter C904
Preset 1234 —(DN)—
Accum 0
ZCL ZONE ENABLE
M[704] ZCLO
16 1 F JMP O——
ZCL ZONE ZCL ZONE
M[705] M[706]
17 1 E
ZCLO
18 — LBL | [ NOP |
MCR ZONE ENABLE
M[707]
19 5 E MCR
MCR ZONE MCR ZONE
M[708] M[708]
20 = /[
21 MCR
SEQUENCER OUTPUT
ENABLE SEQUENCER OUTPUT
M[710] SQO
22 5 F Sequencer Output —CENDO——
Array SQO022Array[0]
Mask 16#0000_000f (DN )>—
Dest SQO0022Dest
Control R905
Length 5
Position 0
SEQUENCER INPUT
ENABLE SEQUENCER INPUT
M[711] SQl
23 4 | Sequencer Input [ NOP |
Array SQI023Array[0]
Mask 16#0000_001f
Source  SQI023Dest
Control R906
Length 3
Position 0
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24

25

26

27

SHIFT REGISTER ZONE
M[801]

ZCL1

J L

Local:6:0.Data.1
I C

JMP )—

Local:6:0.Data.0

J C

Local:6:0.Data.2
I C

Local:6:0.Data.1

J C

Local:6:0.Data.3
I C

Local:6:0.Data.2

J L

Local:6:0.Data.4
1 rC

Local:6:0.Data.3

J L

Local:6:0.Data.5
1 rC

Local:6:0.Data.4

— LBL |

ZCL1

1 C
M[217] Local:6:0.Data.5
alls
RIGHT SHIFT REGISTER
M[218] M[217]
0 C
1 C
RIGHT SHIFT REGISTER
INPUT RIGHT SHIFT REGISTER
M[712] M[218]
0L
1 C
M[317] M[318]
0 C
1 C
LocaI:ST:OﬁData.S M[317]

J L

Local:8:0.Data.4
1 rC

Local:8:0.Data.5

J L

Local:8:0.Data.3
I C

Local:8:0.Data.4

J C

Local:8:0.Data.2
1 rC

Local:8:0.Data.3

J L

Local:8:0.Data.1
1 rC

Local:8:0.Data.2

1 C
Local:8:0.Data.0 Local:8:0.Data.1
i E
LEFT SHIFT REGISTER
INPUT
M;71r3] Local:8:0.Data.0
1 C
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(End)
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